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Correct Marks : 2 Wrong Marks : 0

A teacher who possesses a deep understanding of the subject matter being taught
demonstrates:

50D DAchos® E°8S eNerd &) sarguaing BN BB

Options :

Strong classroom management skills

Deghid S5KS KO A Jupeasgen

Subject matter expertise

5 EAPTony) naéogé

Effective communication skills
[DgrdRiodadid Dirard Jeyessen
3. %

A passion for teaching

L DS B ©D6D
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Adult learners are often motivated by a desire for:

BBresd @grgHen S5 S 89653 (@ohonated:

Options :

Standardized test scores and external validation

| x DeEresbodny $08 Fhen, ariy DD

Practical application of knowledge and skills

5 @ Dezeddn JPeTge sl whdBoy



Following a pre-defined curriculum without deviation

- Sren B0t dnodhrr D00 ardyerds

Purely academic pursuits and theoretical knowledge
2500 Qeyeg DATeen, ?JDSDE_%? a’]@;‘o’azﬁn
4, %
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Students with varying learning styles and prior knowledge represent factors
affecting teaching related to:

DD Beee egrgddenen, H0006 ezdain HOAS Domgthen & (Bob B8
FHe555 (Herdd 983 sesret HonohoDH th?

Options:

The quality of support materials

55EADHE HEBSHS Teeag

The learning environment

E}Epﬁgﬁ ;’}Dvga’)iﬁzaaﬁm

The teacher's workload

3 % BGHI DB grHw

The institution's budget
R0 DGED
S
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MOOCs (Massive Open Online Courses) are an example of:
MOOCs B8 &wesSee

Options :
1. %



Teacher-centered methods

Pese éo{_ﬁé&é étgé}@a

Learner-centered methods with limited interaction

- HBDE HENY 155555, €975 08 éo@%é ‘.fjﬁgéam

Off-line methods with no internet access
©0STO0 wothHartnd® B0 «Hsh He5Een

Collaborative learning methods requiring in-person interaction

, s B5BIE SEGYS S5 eSS DeEeE g Higdbe
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MOOCs (Massive Open Online Courses) are a prominent example of which
teaching support system category?

& BIDD @ &8 g HS BorrdE MOOCs a8 (Hdng eurdrtes

Options:

Traditional system with limited technology use

H08E FoBBES aDd@rK0E” Jolborad 58

1. %

Modern system with some technology integration
5 % BP0 roBAES wdogrebod 353 ;’3%&3

Fully ICT-based system with online delivery

6588 2trEed® GrBr  ICT-egrdd Sate
3.¢¥

Collaborative online learning platform focused on group projects

FLrirE [FEHeD SRS Jred eS8 wgd b5
4 % B - el =

Question Number : 6 Question Id : 26544815530 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Credibility. objectivity, and replicability are important characteristics of:

Sj%isﬁc'%}ofbé, &%ﬁ;&éé, B8ErHs HA 3008); ©FEreD:

Options :

Qualitative research only

Foees)s 2568558 Eoeedah

1. %
Quantitative research only
5 % é&&’)?f:aﬂééé 568%5% Sl
Both qualitative and quantitative research
ﬁjmvééé, éﬁﬁpmﬂé@té 5B80es5en
3.¢
Infinite Research
wb08 588858
4, ®
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Qualitative data might include:

oeames)s Berodsns” ad ok SyD:

Options :

Scores, percentages, and charts

- D, Foaren, Heren

Interview transcripts. observations. and open-ended responses

5 D08y HEen, 588eben, L5 Joas (258 0tsen

Parametric Tests

FoeDBE HOEen

Time — Series Analysis
snﬂ@aa}@ S]é;ﬁea
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Historical research focuses on mvestigating:

ToBlErEE HBE°ES B oD Dawes® % FeHob:
Options:

Current phenomena and trends

508 &)fcichsin, eFEKen

The researcher's own experiences

58855%9 208 @ihgiaren

The opinions and beliets of a group

2.8 D3rey) ed)|arairen, Se5yseen

Past events and their impact on the present

v N Soznenen, NBRTEHN0 el (Sgeaisin.
4. &
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Qualitative research emphasizes:

VNG 588855 HD O°8) Janob:
Options :

Numerical data and statistical analysis

SogRs8 Bapodsn B Herod HFes

In-depth understanding of experiences and meanings

. epdiare, OO fﬁﬁﬁﬁ OTTPETRN

Controlled experiments and cause-and-effect relationships

3 % ficholses [Harrren, 5e0m =beriirre D006



Standardized data collection methods

4% ErErdEsn ohadsd Savod DESH DG Een
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ICT tools should be used ethically 1n research by:

ICT 50smén J8Borre 88 orr awed).
Options :

Copying and pasting content from online sources without proper citation

1 % OGN o Spido Bore uSB8S Sddhe S0, S8 &Y woohey

Respecting copyright laws and acknowledging the work of others

, o S8 Stped TED0D, asdhe DIV HHoDHE

Fabricating data or manipulating research results

3 % theod B, 58858 HDaEred =HErd Do

Sharing confidential research data without permission

s Shone 5553 %8855 Sepodod)) HoHE R0
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Note : Answer the questions 11-15 by reading the following passage:

KaoRE: (Bod msxabs Sdrarto egrdorr 11-15 Hée Jdrgraren (@rahob.

I have noticed that the camera does not lure one mto the beaten tracks which tourists most
frequent. It is helpless on the top of a crowded coach or 1 a swiftly flying motor-car. It
gets nervous when too many people are around. especially if they are in a hurry. and fails
to do 1ts work. It must be allowed to choose its own paths and to proceed with leisure and
calmness. It 1s a charming guide to follow. T have always felt a sense of relief when able to
escape the terminable jargon of the professional guides who conduct tourists through the
various show places of Europe. and so far as 1t has been my fortune to visit such places.
have usually left with a vague feeling of disappointment. On the other hand. when. acting
under the spell of the camera. I have sought an acquaintance with the owner of some
tfamous house and have proceeded at leisure to photograph the rooms and objects of
mterest. [ have left not only with a sense of complete satisfaction, but with a new friendship
to add to the pleasure of future memories.
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According to the author, a camera works well in a sifuation.

BSons (Heedsn 8o & 566?%&55 SEe 50B5086.

Options :



Rushed
S0t

Crowded

Ko

Relaxed

3 ¢ A GaleTtiay

Noisy
Sarer&Erd
4, %
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The author calls the . a charming guide.

SSows B DSBS SBBHETOT DEYEBOTD.

Options :

Local person

Camera
2.

3 % Amateur gmide

Local guide
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The author was disappointed with the of the professional guides.

Sdomd SBHY rSGHeH domohod) HIHI & Dol Booedh.

Options :
1.¢



Endless long talk
0B é:r!gjéoajﬂa’:;‘a

Lack of knowledge
EPRTPEL0
=

Unprofessional attitude

HBE 8K Jpd

Conduct

4w DESA
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The phrase ‘beaten tracks’ means

éﬂﬁﬁ“%&}&eﬁ rien @8 HSnoped8 @go.

Options:

Remote area

RAethadare (arodo

1. %

Cross-country ficld

Rural landscape
3 % (e&oes 5B E50

Much -travelled region

oo [HairEo Bohad (FrosHn
4. *
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The author finds the camera very

BSome Shoed &8 Ao graowetd.




Options :

Uninteresting

w58 BB ShH™

Magical

SoolEsniio IeHKOR e
2. ¢ “

Repelling

&&J?ﬁmﬁm
3. % &

Distracting
E"‘l.
. c@@éﬁéﬁm
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In non verbal communication. hunched or slouched shoulders indicate

oy H0BH0S°, HohS, Bohd gheren HAY JrDom.

Options:
Integrity
Qezeond

1. %

Lack of confidence

- R0 SESESE0

Sense of balance
ro) SOA éotéo

Interestedness
308 BOA sotiéo
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Being and aceepting towards other groups helps in mimmising
miscommunication i intercultural communication.

éoﬁ;@é}@ avlal HErarod? @ég Sdrarto éﬁoééﬂ?&%, 388 HrsPoh
woA&BoSeo SB35 e G080 &3 rNSEaron.

Options :
Egoistic
1 % @rosed Jrbsorr 6oiéo

Prejudiced
000 ABHEF) efaraho EOA &okto

Open-minded

3 ¢ 5,085 Do&&® sokbo

Biased
4 % HErS 398 EOA Gorto
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Positive communication in a ¢lassroom builds between teacher and

student.
S558 KoS Fire fmé%a’m, Eﬁf’r‘,ﬁéjﬁllg, @a,jg”nﬁéjﬁlg, a'?ofﬁs 2SR ATAYY)

©OTRY 5@5"@9}6&0&,

Options :

Trust
E’aé}&éo
1.4

Hostility
E3leInle
2. % 5

Sympathy



Apathy
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If jargon and slang 1s used extensively in a conversation. 1t leads to
barrier.

2. Hondsndt H8ers, o BRI TAB ©b S5 0S36%08 b

H500.

Options :

Social

FrrRE

Phonetic

QB

Physical
AR

Semantic
> Sreh Jo2ofodN
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Television 1s an example of media.

BODesid S HIDD SrERrVS GrrsSes

Options :

Digital

8266

1. %

Electronic

> ﬂPj[ﬁ;ﬁ]g



Traditional

_ ~roHmea

Mass
m?éafﬂ?”.jna%?g
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Question Number : 21 Question Id : 26544815546 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Complete the series with next coming letter: X. P.J.F.

150053003 50sTed 5T 0880 & JrO00d: X.P.I.F,

Options :

A
1. %
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A 1s P's father. Qis C's daughter. D 1s C’s husband. A is Q’s father-n-law. If A has
only one child. how 1s P related to D?
A, Po|d Q.C&réod D, CHO A Q ¥} sdrsdmrdn A 2

&5 ¥OR &0t DOGHE0?

crll,
)

2.8 50T, P.D

Options :
Brother
| D5

Son-in-law

eents
2. ¥



Nephew

hdents

Father-in-law

J n SFETE
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In a metro city bus travels from place A to place B at an average speed of 63 mules per
hour. The same bus travels from B to A at an average speed of 77 miles per hour. What
1s the average speed of the bus for entire journey?

2.8 DI 23 €T, 2:0) A D0A B TR HENS 1005 63 DY Ko
DAPEN06. T 2360 B 00 A8 Hifend Hoerdd 77 DY SHod
1D0IPESN0A. IS0 (DOSTETRE 260, D B0 DOeh?

Options :

1. ﬁ 72.—1

, % 70.0

3 v 69.3
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In a restaurant. the income of a servant 1s salary and tips. During a week his earnings
through tips were 80% of his weekly salary. In that week he earned Rs. 360. Find the
amount he earned as tips during the week?

2.8 BarBoe, Hd%A errchHo a0 SHA0% 6353300, 2.8 %o 89 © o
e DO @8 T B0 80%. & S0 e e 360 HOTAHOTR.

of W o RO - 2
TE0S 89650 NoardodS 8510 JFTAy ELfSod?

Options :
1. % Rs. 100



» Rs. 160

2
Rs. 200

3.

4 % Rs.290
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In an election of three candidates A, B, and C got votes as: A gets 50% more votes
than B. He also beats C by 2,40.000 votes. C beats B by 5 percent. Find the
number of votes polled?

S0& e2she a1 406’ A B, HB0W C oS 4,60, A8 B 40T 50% 25058
5,60 SaFow. C 2 Era 240,000 2,8 B B Tensromd. €, 5 7608 B D
£,B0005. @onS S L6 Jopid Eofbod?

Options:

1 ¢ 28.00,000

5 % 26,40.000

3 % 30.72.000

4 % 17.60.000
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Consider the Venn diagram with three sets A, B and C like as follows with a=6. b=8,
¢=3, d=1, e=4, =1, g=1, then n(AUB) =?

A. B, C 2tp B0 & (800 35 DED506° a=6, b=8, c=3, d=1, e=4, f=1, g=1, ©0NES
n(AUB) Qoes?
Options :

1.% 24
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Statement:

DRBEen:

All cats are dogs.
eof)) vegen HEe.
No dog 1s a lion.
o) EoF) DoirEn e,
Some lions are tigers.
E°) poSten Henen.
Conclusions:
SwAoY =8ardbo.
I.  Some lions are cats is possibility.
8 doben epen seR.
II. Some tigers are cats 1s possibility.
B0 Dewen, venen se,.
III.  All cats are tigers 1s not a possibility.
@) enen, sHeED oa oHsedo B,
IV. All tigers are dogs is not a possibility.
o) Yenen HEEn 5°5) o3 ©dsedo B
Options :
1 % Only I and II follow.

5 % Only II and III follow.

Only IIT and IV follow.

Only IT and IV follow.
4.
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‘Sound 1s eternal. because it 1s produced’ 1s an example of which kind of fallacy?

Fin GG FHSHD JotHEoH ©f Y ®wondh o) [zrod 8085
$:5067?
Options :

Viruddha

oY)
1.+ Y



Asiddha
&ty
o

Satpratipaksha
DE(HBDE

Vyabhichara.

4% N Ae
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Simplify the followmng expression using the directions: ‘+" means ‘x’; *x’ means ‘- °
“means ‘“+"; ‘+'means ‘+’. Then valueof: 9+4-6x6+815
“+' @08 ‘X', ‘x’ W08 ‘-, ““‘®08 “+, '+’ @08 ‘+' ®owd 9+4-6x 6+ 8 Dewd:
Options :

| % 85
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Which of the following are considered as orthodox schools in Indian Philosophy ?

g8 aBEins® Ko BIDS 9 woFEnodH ITEIDI it grdFs?

a. Nyaya
agsd:b

b. Vaisheshika
BEGE

¢. Yoga
ol

d. Samkhya
ﬁS}%

e. Mimamsa.
Hdrod

Select the most appropriate answer from the following:

B0 a0 od #AN et oJochau:

Options :

a.band e
®

5 % a.candd

3 % a.bandc

a.b.c.dand e
4. &
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Note: Answer the questions Q.31 to Q. 35 on the basis of the information given below.
K&DE: (Bod ax@bd Sdroeto egrdore Q.31&0b Q. 35 (6 dirgraren
[archod.

The percentage of growth mn exports of five companies in the last four years 1s presented
below.

Heb renTi®eS % S02de hdehe S8 7o HHdS @ododadod.
% of Growth in Exports

2 42
45 2 40
40
35 30 30 3030 30 o
® 30 i
£ 25 2 20 0 0
g 2 1515 5
G 15 10 8
10 5
5
0
A B D E
m2020 10 15 8 5 12
m2021 20 15 20 30 20
m2022 30 30 0 20 28
03 45 38 30 40 Ty
Companies

m2020 m2021 w2022 ®2023

Sub questions
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In which of the following companies, is the percentage growth in exports highest
from 2019 to 2022

808 e3¢5 &) 50T, 2019 0A 2022 SEZ VDD eoch e HE
D@ TB0 GOO

Options:

1. % A
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In 2021 the exports of each company was Rs. 130 crores. How many companies had
exports below Rs. 100 crores 1 2019

2021 €5 (H8 50D DDDERED EP. 130 FED. D) F0DIO ihaSdesren
5. 2019 € 100 S0 B0 502,05

Options :

Question Number : 33 Question Id : 26544815559 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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By what percent is the exports of company C for 2023 more than its exports in 2019
50208 C BB0E} 90T €9:3035°e0 2019 & TR DD 0T 2023 §,
o) 0ed T2 )80

Options :
1 % 68%
87%

119%
W

4, % 0939
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In 2021, the sales of company B and company D are Rs. 100 crores and Rs. 130 crors .
What was the ratio of their sales in 2019

202165, 50 B D000 0D D 93570 &F. 100 §¢0 SHB0% . 130
8. 2019 S'ard DEATFO D) Doe

Options :
1.« 420:529

, % 529:710

3 % 10:13

11 19

Question Number : 35 Question Id : 26544815561 Question Type : MCQ Option Shuffling : No
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Company D had earned a profit of Rs. 41 crores, which was 25% of its total sales in
2022, What was 1ts sales m 2019 approximately?

E00Q D 7250 8. 41 §e0. 3 2022 & %) N0 .56 25%. 2019
S Q) 290N DSTENT DOES?

Options:
1% Bs. 64 crores
5 % Rs. 88 crores

3 % Rs. 164 crores
4 Fs. 100 crores.
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Question Shuffling Allowed : Yes
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: 26544815562 Question Type : MCQ Option Shuffling : No

Which of the following programs in UNIX helps us to configure a machine as a proxy

server?

& 8193 oSeREy (Bresned® 26 aholge) (D8RG SBBre ErHBHit

RErEB0oh

Options :

Apache
1. %

2 % Poff

Synaptic

Squid
4. & E

Question Number : 37 Question Id
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1 Kilobyte Bytes

: 26544815563 Question Type : MCQ Option Shuffling : No

2.8 88° BES edre=......... Be5en

Options:

8 Bytes
1. %

27 (10) " Bytes

'8xx2” (10) " Bytes

4% 8xx2" (16) " Bytes

Question Number : 38 Question Id

: 26544815564 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
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"

Which of the following 1s an extension of image file’

& 60D 5o06° DB BhEpS AEYBIS?
Options :

exe
1. %

txt

ipeg
V,JPH

doc

Question Number : 39 Question Id : 26544815565 Question Type : MCQ Option Shuffling : No
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What is the minimum number of characters that a strong password should have?

2.8 DO HOBSENHL ©HHBHS 508 555085 o)?

Options:

Question Number : 40 Question Id : 26544815566 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Why are you recommended to back up your files?
285 78 o ool oD ErdoTed

Options :



To create duplicate copies

$¥en soden F/J&W,%D{ﬁ]ﬁéj

To orgamize your files
- PHD DBErotherth

To have a copy if something goes wrong

- o N &
3 @ @ae S5 28RS o0 S0HE e

To share data casily

. SSerodd)) oegfore Homohenih
4.
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Which of the anthropogenic activity accounts for more than 2/3rd of global water
consumption?

& B0H a0 @) drddesdy Sen, (HHod HB DB 2/3 Hokh Lol
DS DIGPAOD?

Options:
Agriculture
a’jééﬂ“dﬁjﬁn

1.4

Hydropower generation

EE}SJES%S &3

2. %
Industry

3 % 20| Fs0
Domestic and Municipal usage
), DBered D@ENo

4. %

Question Number : 42 Question Id : 26544815568 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 2 Wrong Marks : 0

The National Disaster Management Authority functions under the Union Mmistry of

805 D5 NBETEs ©Gs0 & B Bolt§ aholaro 8ot HB0B
Options :

Environment

ﬁt}ﬂé&ﬁtﬁme
1. %

Water Eesources

5B S5en
2. ®

Home Affairs

Fapvtsy) Hedetoren
3. %

Defence
6§m
4, %

Question Number : 43 Question Id : 26544815569 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which one of the following continents 1s at a greater risk of desertification?

% B9 0 & porsn Jeebitem 8 8OA &oh?
Options :

Africa
1.¢

> % Asia

“ South America

WNorth America

Question Number : 44 Question Id : 26544815570 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Which one of the following biosphere reserves has UNESCO recognition?

& B9 Bardteped® D6 IR HBoD) EOA Gob?

Options:

Manas

| x EPES

Kanchenjunga

se0om Kol

Seshachalam Hills

3 % Bapdoo Eoéen

Greater Nicobar
Rt JE%rE
4. &

Question Number : 45 Question Id
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Kyoto Protocol is related to...

: 26544815571 Question Type : MCQ Option Shuffling : No

gﬁééﬁ’s B°¢SPseds BB HowoBoDHH

Options :

Ozone depletion

- 5,885 éeaé

Hazardous waste

(2533 BB é@dﬁo
2. % e ®

Climate change

sPEeRtes éﬁti}n}
3. v

Nuclear energy
w@enss
4. %

Question Number : 46 Question Id

: 26544815572 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

Which 1s the first Open University in India?
50805E° nisd FBYBE DEDTgeHm

Options :

Andhra Pradesh Open University
1.4

YashwantraoChavan Maharashtra Open University

2. %
Indira Gandhi National Open University
3. %
Nalanda Open University
4. %

Question Number : 47 Question Id : 26544815573 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

“Education 1s the manifestation of perfection already there in man” was stated by

“SrdHRE =26 édééécl é&f@vgéé} E}&@ééﬁoiﬁméj el ” e,
Options :
M.K. Gandhi

R.N. Tagore

2. %

3 Swamu Vivekanand
Sr1 Aurobindo

4, %

Question Number : 48 Question Id : 26544815574 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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The e-content generation for undergraduate courses has been assigned by the Ministry
of Human Resource Development to...

Al BID 55693@& QDO Kjgc:moxfaéaéa, Srds SHhowen HJB
Seronodod.

Options :

1 % INFLIBNET

5 Consortium for Educational Communication

3 % National Knowledge Commission

Indira Gandhi National Open University

Question Number : 49 Question Id : 26544815575 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which educational approach involves learning in an outdoor environment?

208 2658 TFE DS SRS o) Sjmvgtjgéu}r‘,ﬁa"m gDyodob

Options :

Informal education

e0EE08 D

Non-formal education

e 3)&55
2. %

Experiential education

3 @ éﬁ%ﬂtﬁsﬁe‘_ﬁéé DS

Formal education

D D
4. %

Question Number : 50 Question Id : 26544815576 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



The most effective means of citizen’s control over administration 1s

HBroIE FHIE KD (HerdE DoholEn S0t

Options :

Election
T 0y
o m&é &0

Pressure Groups

2,838 PHEuEFen

Advisory Committees
05 Eoden

Public Opinion

(e e
4. &

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 51 Question Id : 26544815577 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

One of the earliest accounts of the concept of justice is found in the following:
S0ETBNAE T°5000 275 DadBen 2,863 1808 TS EduffesdGod:

Paper II

265448206
2

Online
Mandatory
100

100

200

0

1
265448638
Yes



Options :

Saint Augustine’s “The City of God’
1% OO0 EDS 'S eS esD &

Plato’s ‘Republic’

- 2E 'B8HE!

Cicero’s ‘On Laws’
3. ® ?\:}?JSE I@RF:I f’_j“ﬁ:}'

Rousseau’s ‘Social Contract’

S S At 2. y0dh0

Question Number : 52 Question Id : 26544815578 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Read the following statements regarding ‘rights” and choose the correct code:

w5008 H020G0w 808 O A MBS ST

NI ole

a. Negative rights are rights that entail non-interference from the society at large.
D8 50,00 BTa) 20 0k DT £%50 TaEEA STEN.

b. Positive rights are rights that impose obligations on other people or state to do something for
a fuller enjoyment of our rights.
08T aPEen R BSE SiVen B TR0 a0 aPHRON DONPYOT
S SA0NTNE BT BONSILR 2P0 Q0T a8,

Codes:
E%ew:
Options :
a only
L @ NI
b only
, % DTS

Bothaandb

Bﬁfa.baot’fw“



Neither anor b
a. b B> 5%

Question Number : 53 Question Id : 26544815579 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following gives more importance to what 1s historically mherited  instead of
what 1s abstract and 1deal?

806 TS’ 28 BEFNL0, 6KTAE e | SEom HoEoN
T3 D80 [aFaNDIEAVN0E?

Options :
Historicism
=] =]
- 8230
Liberalism
= gt
, & GEEIO0
Structuralism
ATE77¢53863°C00
3. %

Conservatisim
DORDT A0

Question Number : 54 Question Id : 26544815580 Question Type : MCQ Option Shuffling : No
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Who among the following were associated with socialism?
806 865 D3 FADBOS H0220H50 EON ) 39?
a. Francois-Noel Babeuf
BOS 0NRN - TS 22T ED
b. Henri de Saint Simon
R & DONOE DS
¢. T.H. Marshal
3.3, S0
d. Charles Fourier
°00 8D
Codes:S&en:

Options :

a. b and c only

a. b 208350 ¢ JAT(ehaD

a. b and d only

a.b 508050 d Sr|ehad
2.¥

a. ¢ and d only

Lx HE L0850 d ST ehad

b. ¢ and d only
b. c 0850 d o3| ehad

Question Number : 55 Question Id : 26544815581 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In which of the following it is assumed that there will be a diversity of opinions  and mterests
on almost every matter of common concern?

VA AL ANV Z ORI RO ACANM AR AR TEE T N OWOR T EN Frde v oW
299800 3520 G000 §08 TS’ AO FR0ER0E?

Options :
Monarchy

- o880



Theocracy

B3DBTeS

Democracy
99237 S SO
3.¢¥

Fascism
2T 0230

Question Number : 56 Question Id : 26544815582 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Power is something that circulates in society the way money does.
D& 57450 (A): 98B0 DA HATHOS then) TS deraed
£9:9)e008.
Reason (R):  The possession of power enables the capacity to secure the
performance of political obligations.
) R 0dsTR) $OR todeio Tsah ardsse BB
G SO SOD TR FDIN0E.
Codes: §Ge:

Options :

(A) and (R) are true. (R) is the correct explanation of (A)
(A), (R) BOC® AT HBDS, (R), (AF0 OB Dedded

1. %

(A) and (R) are true. but (R) 1s not the correct explanation of (A)

(A), (R) BO DBIET OBSD, 5% (R) (A) $0 OB DdBea 5°¢%0
2.¢

(A) 1s true but (R) 1s false
(A), 2559 ST (R) €553

(A) 1s false but (R) 1s true

n B S S R) )



Question Number : 57 Question Id : 26544815583 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following defends a radical reform of society. zero economic growth and a
reduction of the population. an adaptation of cultures and consumption  patterns to regional
circumstances?

808 36 DB HSFE0 36T 900 86, 1 8 98, aerer

05, OIS0, [FFOSBAN HBVSAOT BT DTS

ATTON AeHON0E?
Options :

Naturalism

DeFe3eh ¢ 3¢50
1. %

Ecologism

DT 538D °0
2. %

Institutionalism

et Fvinle
3.

Socialism

. FAS=0

Question Number : 58 Question Id : 26544815584 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Consider the following in relation to Michael Walzer’s concept of ‘complex equality” and
chose the correct code:
DBS FOB D05 NP 50" 2% 0200 (Bod a3
H0E30I0E, DB §G JotSod:
a. It1s concerned with just distribution of different goods to different persons.
26 3055 558008 T35 S0 20T, H02080DIE.
b. It considers that economic status of an individual holds the key to his social prestige and
power,
2.8 58 @90 D @96 roirad 1Heday, ©HSTRE §080 07 26 HBKGVO.
¢. It gives precedence to ethical considerations over economic considerations.
96 @88 Daire o) T HOEIdnSy (Ferdses AN0A.
d. It considers that distribution of social goods should be determined according to the right
reason as application in each sphere.

oS8 500550 H0REAR (98 BofoeS HB0BAT KB Eea0 [35E0

QQONOTOR A 27IWOE.
Codes:§%Gex:
Options :

a. b and c only

a. b 0850 ¢ STehad

1. %

a.b.candd
a.b. cs08cin d

a. b and d only

a. b 08050 d 5|5

a. ¢ and d only

a, ¢ 0805 d 7(ha
4.9

Question Number : 59 Question Id : 26544815585 Question Type : MCQ Option Shuffling : No
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Read the following statements in relation to the citizenship and chose the correct code:

e 508 M020H00) 808 550 t08, B e JothSod:

a. The elements of equality and universality in the citizenship are emphasized by
the anarchusts,
RG0S 506 MairSes 30, A8 B8 7 e0Ten T TR0
NETERIRFAICK oW

b.  Marxists consider that the claims of equality and freedom 1n liberal citizenship

are compatible with capitalism.
GRS BB 506 659550, B5ed) TS0 P2ETE DTl
DBIDOTT G) O o578, J0NeN 2T DTS,
¢.  Femimsts consider that the citizenship is gender-blind.
L%}&T‘CSJEU FOSEN) O0f-090¢¢8 0 EORIET 2y S,
Codes:EGex:

Options :

a only

_— a TS5

a and b only

a S0B8a%0 b A5

a.bandc

3 % a. b a0Bcmo ¢

b and c only

b 508050 ¢ AT(ehaD
4.9

Question Number : 60 Question Id : 26544815586 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Which of the following are the features of ‘postmodernism’?
208 78S 'e3RSH0SET R0 ©F TeD ad)?
a.It privileges the process of staticism instead of creation and mterpretation
A0 HYzaresSes, DadSeatny e 12 (DBOHZ AFxeh RO
b.It recognizes that reality is fragmented and disconnected
TRNES DD oA, DBACHA0G 2 HEN0E
¢.It opposes canonical authority
26 AB006%0 BHSTR) 3308 NOE
d.It stresses on conditionality and historicity of theories
2O VFTOTO AGeen, OS85 N 8 TR
Codes:EGe:

Options :

a. b and c only

a. b 08050 ¢ AT(ehad

1. %
a.b.candd
5 % a b.cpdaind
b. ¢ and d only
b. ¢ 08050 d S5 dad
3.¢ -
b and d only
, b 5508050 d S35

Question Number : 61 Question Id : 26544815587 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The following 1s concerned with the constructs of intersectionality. dimensions of social
life. social mequality. and social transformation:

808 BN AT=ETe, rEE ZAB0 HOSTETE), ArrEs edsrdd,

Toir28E 358500580 H00BOVNEA:

Options :
Feminism
&
Rhyale
1.4



Behaviouralism

(Dd8Trarddo

Systems Theory

- 23590 VPT0HO

Structural Functionalism

T°2£d 505G 0
4. %

Question Number : 62 Question Id : 26544815588 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): The normal democratic approach would establish majority control
in today's multicultural countries. which tends to erase the
idenfities of many cultural and ethnic groups.

8 5TEL0 (A): SSTaNTEN |20 WGTI0 B3 26T PO 93

B7eS 20283 A0HO|Se AEIEN0B, B8 R
00988, 278 dedrde) 11805 SIGDBRNOR.
Reason (R): The 1deal of true democracy must be realised by properly recognising
and safeguarding the cultural characteristics of the many
cmmnunities that coexist.

500 (R): Qs T ©TE HT°) AP0} 938 8 ek ST

ﬁo@oi) T SN0 o 50" QS ey iedng e¢330

T5CREN0A.
Codes: §Gex:
Options :
(A) and (R) are true. (R) 1s the correct e‘{plauatiou of (A)
(A), (R) Bo& DG OBIS, (R), (A)F0 HDS dedSea
1. %
(A) and (R) are true. but (R) is not the correct explanation of (A)
(A), (R) BO DADET HBSI, 50 (R) (A) $0 OBS DdBea 5°¢%0
2. ¢

(A) 1s true but (R) 1s false
L, (@239 5 R) )
3.



(A) 1s false but (R) 1s true
(A)e5)) 5% (R) 208))
4, #

Question Number : 63 Question Id : 26544815589 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
The dominant strain of Confucian thought stressed:

€550 (99256 €8S TIS 83 HA &), THYod:

Options :

The rule of law
I aredad

1. %

The natural rights
5 % 0000°e3 a°50ED

The diplomacy of King
0°2y O e250

The perfectibility of man

AN DB Qed
4. &

Question Number : 64 Question Id : 26544815590 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Read the following statements 1n relation to Niccolo Machiavelli and chose the  correct code:
'S SroBO8 020600 8§08 arsatend HiS0d, B S
20thHSod:
a. The biblical and theological approach employed in the study of politics was the
methodology of Machiavells.
o805 9500508 BRAITR0DS B, SE0eh 0
SPROHTE) ©hHBoS DG,
b. Machiavelli believed that men in all ages and places had been the same. had
been influenced by the same motives, dealt with same problems and adopted
the same mears.
X300 e sl NETOS e a3er T8, 43 GOTIO8
2T SATEER), 2.8 DeOSE S5aeTBOTTER), 23 drTO ©95008)0w N
NN
Codes: §&ex:

Options :

a only
a o37°( 5o

1. %

b only

- b oS5

Bothaandb
a.b 3ok

Neither anorb

a, b BT 5%
4. %

Question Number : 65 Question Id : 26544815591 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Plato’s scheme of education represents:

2 Deame HHE0 A Hrdos:
Options :

A state-controlled system of compulsory education for both sexes.

. T7235-QOD0|EeH 655595 2%d Dorres a788 D&Y .



A state-controlled system of compulsory education for men alone.

T°255-Q0N0(E3e5 5989 5BDED ST eHad B0 DS,

An autonomous bodv-controlled education for aristocrats.

55090 DBHB Hoded & fo ErO)edy s,

A state-controlled education for aristocrats.
T7235- Q00|65 955D ErOainerso Ds.
4. %

Question Number : 66 Question Id : 26544815592 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following works (List-I) with their respective authors (List-II):

808 Gc50300) (238)&-1) 3763 502085 SLionederd (2rd)e-l)

2365002 0¢:
List-I List-II
e erd)e-|l
(Work) (Author)
(E259) (Gcdones)
a. Apology 1. Machiavelli
0TS Sre&aHaO
b. The Discourses i1. Aristotle
& GH.B)0 o830
¢. De Corpore Politico ii1. Locke
& 56310 rOe3s’ er§
d. Letter Concerning Toleration 1v. Plato
SED 53800 EreBAS &
v. Hobbes
a2 )
Codes:§Ge:
Options:

a-u1 b-iv c¢c1 d-u
1. %

a-u1 b-11 c-v d-1
2. %

a-tv b-1 c-v d-1
3. v



a-1i1 b-1 c-v d-u
4, ®

Question Number : 67 Question Id : 26544815593 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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“The state 1s a community and that it is the highest of all communities” are the  opening
remarks of the following work:

02350 2.8 0510, B0 ) NFHFOS T @) SRIO" ©T6 §0d
Eedai80 0220500 (3rE02S ar§asen:

Options :

Montesquieu’s ‘The Persian Letters’

"0 TBIT.S ‘6 DN BEady

1. %

Aristotle’s ‘Politics’

eo8gre3® aree3s )y
2. v

Plato’s ‘Symposium’

. 2E ABE, "oRANO!

David Hume’s ‘Treatise of Human Nature’
\ BAG 5705 (3B0eS &3 STUENS D'

Question Number : 68 Question Id : 26544815594 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): .S, Mill's 1deas on liberty had a direct relationship with his theory
of utility or happiness.
DE B850 (A): DI 2. TR, O S TISeN 9650 Eradirfies S
8350030 NT0S0S (N 005Ny §OR Gm)ow.

Reason (R): Mill regarded liberty as a necessary means for the development of
individual which was to become the ultimate source of happiness.

27e8309) (R): 0O 0558 98)a39 D8 96308 APQOROTE Q05230 2raoTT ),
20 SIOTRE 03D SNTOIOTT TR0 LB 27,

Codes:§Gew:



Options :
(A) and (R) are true. (R) is the correct explanation of (A)

(A), (R) B0 DA B, (R), (A)B0 OB eddea
1.¢

(A) and (R) are true. but (R) 1s not the correct explanation of (A)
(A), (R) B0 DBIGT OBSD, 5% (R) (A) 80 OB DodBea 5°¢%0
%

(A) 1s true but (R) 1s false
L, (@)2) 5 R) )

(A) 1s false but (R) is true
4% (A)SDH) S (R) 2:5))

Question Number : 69 Question Id : 26544815595 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Who among the following provided psychological foundation to his political reasoning
through the conception of human nature?

808 786§ D270 27 T 5T° 50 Tredad EB) SRR TR
TV TR ©0H0DVOE a8?

Options:

Gandhi

Tod
1. %

Habermas
23723070

Aristotle

- 08¢0

Hobbes
a0’ )
4.



Question Number : 70 Question Id : 26544815596 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Consider the following in relation to the Gramscian conception of ‘Civil  Society’:
TR T dedres’ 2FIE o060 808 7¢3R H8ie3oiod:
a. It seeks to obtain consent of the citizens

20 D) e33R AFOBOCHY (DODHEY) VO
b. It 1s relatively autonomous

20 DL 0T S0 SRS
¢. It is a structure of legitimation

90 N VT8I0
d. The political society or state 1s a part of it

23808 Nrz0 B 072250 ARS' 2.8 2rffo
Codes:8Gen:

Options :
a. b only
a. b AT(SHTD

a. b and ¢ only

, v & b 08350 ¢ 7ehad

a. ¢ and d only

L w C 208050 d oS5

¢ and d only

b.
b. ¢ 08350 d &S| ehadd

4, %

Question Number : 71 Question Id : 26544815597 Question Type : MCQ Option Shuffling : No
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The concept of ‘Geist or Spirit” was basic m the political thinking of:

1D B> Dmehy' ©@F 2756 DB T80 8S WSS [FrdEom God:

Options:

Rossean

- EF



Bentham
2 . ® E O C’;:}O\Fl}

Hegel
3¢ OO

Machiavelli

L x STEOHSO

Question Number : 72 Question Id : 26544815598 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Mao Zedong’s works include:
A3’ Berroh Stdddew:
a. On Contradictions
e8® STORGBE )
b. On Bolshevik Revolution
@33 258 BT
¢. New Democracy
S BT
d. On Coalition Government
33 §ondAS 55810
Codes: §Gen

Options:
a. b and ¢ only

a, b, ¢ o575

a. b and d only
a, b,d o350

a and ¢ only

a, C AT ehadd

4.+



a. ¢ and d only

a. c. d AT(Ha

Question Number : 73 Question Id : 26544815599 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Which of the following terms are associated with John Rawls?
808 HesS 23S T3 0022080 9GH) D)?
a. Original position
2,823350 PN
b. Veil of ignorance
SonO e TR
¢. Chain connection
20 §3588
d. One Dimension Man
NP BRSO D
Codes: §'Gew:

Options:

a and b only

| % 2 badre

a. b and c only

, ¢ abcST(EDd

a. b and d only

3 % ab.d ST 5T

b and d only

b. d 353
4, ® i
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The following are found in Locke’s ‘Second Treatise’:
75 E05 (300 'S’ &8 (oA EedofFarcheran;
a. Human nature
AT Q52700
b. State of nature
EySE O
c¢. Natural rights
D23 537800
d. Social contract
o238 2,00)000
Codes: §Gew:

Options :

a. b and c only

a. b. ¢ A5

1. %

a.b.candd
a.b. c. d S7ehad

a. c and d only

, x acd A5

b. ¢ and d only

b. c. d o35 ¢5a

Question Number : 75 Question Id : 26544815601 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

‘Discourse on Political Economy” 1s the work of:

023805 @88 S50 90080 (3830 88 FOESESD d57dad) D8 ST

Options :
Rossean
_— SrsF

Frederich Engels

CEE DonD )



Karla Marx
3 & 5000

J.S. Mill

4 % 1S QO

Question Number : 76 Question Id : 26544815602 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following pairs are matched correctly?
808 2365 B DO 235NSIDBSSE?
a. Marry Wollstonecraft: Between Past and Future
578 SOFISD: D35S TP ©0& 5D
b. John Rawls: The Laws of Peoples
S TO Y S erR & DO
¢. Hannah Arendt: A Vindication of the Rights of Woman
o) @808 o) DOGBAS &9 & B @D HedS
d. Antonio Gramsci: Prison Notebooks
SO ATI® (T (DB S €208

Codes: §Gew:
Options :
a. ¢ and d only
a.c.d S
1. % G
a and d only
a. d S
2. % }
b and d only
=
3 v b. d 2077 €55
b. ¢ and d only
. b. c. d S5 ehad

Question Number : 77 Question Id : 26544815603 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 2 Wrong Marks : 0

Who said “it is not the consciousness of men that determines their existence, but on the
contrary if 1s their social existence that determines their consciousness™

"3RS DT 778 EER) AFONOTIE, T A8 IR0 78 wreir &g ard
DesrsR), AQ0NN0E" €90 aad Tar)?

Options :
Hegel
1. % Du?ﬁ‘?_ﬁ

Karla Marx

50 630°0).)
2. ¢ '

Frantz Fanon

P05 R

Althusser
337230

Question Number : 78 Question Id : 26544815604 Question Type : MCQ Option Shuffling : No
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Consider the following in relation to the Gandhi’s 1dea of ‘Trusteeship’ and chose the correct

code:

o6 ‘G858 5 e3651905%) 020600 808 TR 83008, 5B TGk

20080l

a. It provides a means of transforming the present capitalist order of society info an egalitarian
one.
26 SuSrE0S R (06 EPETE EXrR), Seirds o $78) SR
OBN0B,

b. It does not recognize any right of private ownership of property except in as much as it may
be permutted by society for its own welfare.
) 0508 D000 §R0 NeIrE0 ©0B0NN08 S8 e85 8 | 2R
QT80 o) a8y (hBoIEh.

¢. It excludes legislative regulation of ownership.
0 O5rEaPSL0 FRSISTN AOHO|BEIN ST ONDOE,

d. Production will be determined be determined by social necessity and not be personal
whims or greed.
56878 90 Arsired e9sdT) 26 Aanodadisiod, i §88en S
ATES 3.

Codes: §Gex

Options :

a. b and c only

a.b. ¢ SrHT

1. %

a. b and d only

a. b, d S eHsH
2. ;

a.b.candd
a.b. c. d S7(edd

a and d only

4w d S7|ehad

Question Number : 79 Question Id : 26544815605 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following are two kinds of laws classified by Zia Baram?

806 78S BASr 20 T 0 SOE8052GS Both 570 5Ten 2?



Options :

Shariat and Zawabit

800, 23578
1.9

Shariat and Caliphs
B80S, HOEN

Caliphs and Zawabat
DO, BTG

Shariat and Iqtas

4 % DOOHS, BTD

Question Number : 80 Question Id : 26544815606 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following form part of Kautilya’'s principles of foreign policy?
Te3ensd V5708 TS drEesS 808 73S 2 arKo?
a. Pursuit of resources
N B

b. Elimination of enemies

3| €8009) QG
¢. Cultivation of allies

D 530
d. Preference of war to peace

720838 $0T) OGTE |arTradged
Codes: §5ew:

Options :

a and b only
a. b oS50

1. %

a. b and c only

Lo @ b. ¢ o355

3. %



a. b and d only
a, b. d 7|53

b. ¢ and d only

b. c.d TS
4, =

Question Number : 81 Question Id : 26544815607 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Whose London lectures collectively called “Practical Vedanta’?
&80 Do38 ©0GS GOTETON MalaiT (2556 S0ed 90 DEOTH?

Options:

Vivekananda
ER N O

V.D. Savarkar
o V.D. 2585

Sr1 Aurobindo

2 3o

Deendayal Upadhyay
L BB F CarersoR

Question Number : 82 Question Id : 26544815608 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Consider the following i relation to V.D. Savarkar and chose the correct code:
V.D 38,8 8 020600 1808 78R Hodoiod, D FBR JochErod:
a. The term Hindu for him was not about a particular religion or tradition but a race and a
nationality.
2965008 270N 9T D0 2.8 ABa) s80 B MoEabo HE0R S, 2.8 206,
Z)ae HBODIE.
b. He did not use the term ‘race’ in biological and rigid anthropological terms,
9¢5ed) ‘27 @93 TR, BdV0DOR, QYN TFF| R DO
GARrAoB.
¢. He sought to make a distinction between Hindu religion and Hindutva.
983 aTFOT s030, arociueh ¢ s 230 e Somdh.
d. He found that the Hindutva articulated m terms of Hindu Dharma 1s correct.

SFOAT &8 HEOT S5S560D Srodues § HBAR @ ZrRoT .

Codes: §Gew:
Options :
a and b only
Ly ab NG
a. b and c only
a, b, ¢ Ar|edd
2. v )
a.b.candd
a.b.c.d
3. %

b. ¢ and d only
. b.c.dresdd

Question Number : 83 Question Id : 26544815609 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The kind of political modernity envisaged by the following was the negation of the existing
primordial political structures. their transformation info contemporary relevance and creation
of new mstitutions:

Eroti T2 809 ehirés @R BT Gd) 80 T2iah Ao
BEHB0L%0, 3 HRSOR TS0 578360, S HoNO 98 &F 475w
28 §DRcoGT Sy

Options :



B.G. Tilak
2).22. e3e>S

Deen Dayal Upadhyaya

- AS BT Coarersod
Jawaharlal Nehru
- 2303700 [TV

Guru Golwarkar

L %o fFer 8,5

Question Number : 84 Question Id : 26544815610 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Consider the following m relation to Aurobindo’s idea of ‘Passive Resistance” and chose the
correct code:

8808 ‘e 8 AFG0'BS IS 502080 808 a3 HOB008, B S
Q0thEod:

a. It involved organised defensive resistance to the alien rule by reducing the dependency of
nation on the foreign bureaucracy.
30 VB9 GEIRP 1050 10 emdcer) $howddo 5o A5d sy
088 S T8 190ead0d) DR 0.
b. It ncluded the refusal of payment of taxes to the government but considered it the strongest
and final form.
96 (D208 108 ) © BO0) BEEE% SR G508, ©ONE AN AORS DB
Grom H8iedoadod.
Codes: §Ge:

Options:
a only
a o377 5o

1. %

b only
b oS5

3.¢



Bothaand b
a.b Bodsyr

Neither anor b

a. b 0> 5%

4. =

Question Number : 85 Question Id : 26544815611 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Pandita Ramabai considered to be entered the feminist discourse through her book:
' é Wl £ —S
DOGES Sireron ¢ S8 HRE0 T T | Ve 1D00H0S 8 (HR0ed:

Options :
Mahila Mukti
1 oere odnd

Mahila Chetana

L S T
Kaavya Nayikas
 5%5¢ soronden
3. % =
Str1 Dharma Niti
5
(2 6582
4, &

Question Number : 86 Question Id : 26544815612 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Match the following political cultures (List-I) with their respective explanations (List-IT

8060 072805 D08} R0 (EFde-) 63 Ho20He DSdROS (@l

2es00d08%:
List-I(erd)e-I)
(Political Culture)
(02805 0 )

a. Parochial 1.

List-II (272)e-1I)
(Explanation)
(e5a)

Parochial loyalties gradually get weathered and the
Citizens develop a greater awareness of the central

authority.

doZuded

NOBIDIE AFADESED ($aDOT IR0 BT ON

2w 30| AT ) B0y ST
20tDHF0EFD.

b. Subject 1.
ZTATY
¢. Participant il

ATV

Citizens are only distantly aware of the existence of
central government

ey S0l (5250e8 50 8 HBOW drcded
[POD0TT PSR BOR Gord.

. Citizens see themselves not as participants in the

political process

EED ehadaeh T Tra§ah (8o’

2 L30T 2P0,

d. Parochial and Subject v,

D0 B8RS

V.

Emerges a problem of harmony between the political
culture and political norm

022809 H0898, U809 [HereTendds
T00RS e HSEAEAR0E

Citizens believe that they can contribute to the system

and that they are affected by it
TGN 050 TS8OSR dsdigEdy
T TR T 507 | 027)eden05rTs .

Codes: §&ew:
Options :
a-111 b-iv c¢-1 d-u1

1. %

a-11 b-m1 c-v d-1
2.

a-1v  b-11 c¢-v d-m1



a-11 b-1 c-1v d-u1

Question Number : 87 Question Id : 26544815613 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Who among the following 1s the author of the book ‘The State in Capitalist Society’?
J = = ! =, gen A W - 4
808 FBS ‘B P 2T 500D FE YR Siioned 5&?

Options :

Ralf Miliband
o) a0

C Wright Mill
B O

Louis Althusser
CPONR D)0

Karl Marx
5°0 030}

Question Number : 88 Question Id : 26544815614 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Consider the following 1n relation to ‘Colomalism’ and chose the correct code:

BORTO0' N8 S020500) 808 3R D800G, B §GMD JOtNE0R:

a. The role of the colomal state was lesser than the capitalist state
SONT2 a¥|S DEPAATO T3t (b S0 ST &0d
b. Surplus 1s appropriated by virtue of control over state power
T2 B850 AOHO(SE &7 507 aiHen SrhEachshod
¢. Exploitative international division of labour
©0STHOD (465 DS Ead
d. Different modes of production coexist
65)8S” DS Behoen HirSsso Tarow
Codes: §%ex

Options :

a. b and c only

a. b, ¢ 3B

a. b and d only
a.b.d SFSH

2. %

b. ¢ and d only

b. c. d 3| ehad
3. ¢ )

a.b.candd
a,bec d
4. %

Question Number : 89 Question Id : 26544815615 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

“Poorer countries should embark on programs of import substitution so that they need not
purchase the manufactured products from the richer countries™ is the assumption of:

"0 TN e () 05 SO ST [rS0domd), e soe ardh O
D70 06 S5 TS €reh 1005 Srhaffen TaDIBE0 B 97 areded A8
D020V

Options :
1. %



Post-Modern Theory
30T DT 0LHO

Modernisation Theory

. e3¢5088 8 DTT0HO

Dependency Theory

. SD0RA) HOHS

Neo-Classical Theory
4w ATP-TRES HOH

Question Number : 90 Question Id : 26544815616 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

One of the criterions for assessing the character of the regime model of fascism 1s domestic
political consolidation. This pertais to:
FRE0 TS ST 2T, 0T BONEAE {6 (HSreTeeS 2,463 TIoD
23805 8886, 19 A H00HD:
a. Control over the official state apparatus
oresf @608 o 00 AOR0| e
b. Control over the decision-making process
DYAH0 ST (80D Aokholsen
¢. Control over other surviving antagonistic institutional poles of power
S’ Sy B 5308 SO TS Barer AoWO0(eE
Codes: §Gex

Options :

a and b only
a. b 3|S5

1. %

a and c only

a, ¢ A5

b and c only

b, ¢ o35°(¢dad
3. % )



a.bandc

a.b.c
4, &

Question Number : 91 Question Id : 26544815617 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

New Social Movements are:
ATe5 ) mradr22d G5l 5edTe:

a. Non-violent and pragmatic

295" OrI OIS 0 eda) , @3TIGETES 50 o)
b. Integrated and hierarchical

DEE YA, 955G Es1503)
¢. Cross-class and cross-ideology

R835-38, 3B 5-255237>30 EORDD
Codes: §Ge:

Options :

a only

;% A NG

a and b only

5 % a, b 35

a and ¢ only

a, C AT(Had

3.¢

b and c only
4% b, dAFSD

Question Number : 92 Question Id : 26544815618 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0



Assertion (A): There 1s no 'general'. 'niform' or 'modular' nationalism that can be applied

universally.
2§ et%méﬂo ) ) S0 B0 WS, 'S Sray B 'R0 (S’
w@cﬁaﬁ“c‘bo @aj& SX.

Reason (R): Nationalisms have differed in their content and form. depending on historically
contingent situations and contexts,

reined) (R): ZrA0NTETen O S0 et HERSEY, HodTeM 28 e
A0, d}“a“r@cﬁé DS O EOETON.

Codes: §Gew:

Options :

(A) and (R) are true. (R) is the correct explanation of (A)
(A), (R) BOch DA B, (R), (A)F0 OB eddea

1.¢
(A) and (R) are true. but (R) 1s not the correct explanation of (A)
(A), (R) BOCH DADGT OB a3, 5 (R) (A) B0 OB DedSea 5°¢0
2. %
(A) 1s true but (R) 1s false
(A)2.53) 5% (R) €55))
3. %
(A) 1s false but (R) 1s true
(A)59) SR (R) 2:59)
4. %

Question Number : 93 Question Id : 26544815619 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following comprises a set of 1deas, principles and rules, all of which deal with the
question of how to develop a political system which excludes as far as possible the chance of

arbitrary rule?
80078 D6 adissen, o7 e, A0HTO JeEasrd) $OR Gotnod,

D) 088 FS0BGE &N TS BITTA AN T80% a5
2er 8890 T & 153915 D00HONSE?

Options :
1. %



Totalitarianism

Q&ododes o

Constitutionalism

o200
2. ¢

Fascism

2230
3. %

Behaviouralism
(DSGTS0
4. %

Question Number : 94 Question Id : 26544815620 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

According to the realist approach of international relations:

@Dé?@dﬁj NODOTTO ST (5800 (H5°80:

a. Sovereignty. or independence and self-control. is the defining characteristic of the state
8 52T SrOSE0, B 2 5650(¢20, R 500-N0D0|HE, T30 AESI0T ©F €0

b. States are not like men. they do not behave in a self-interested manner
T2T500 T )OETTT €50C0063), ©a) w SQay OO (2o9G0te)

¢. A semblance of order and security can be mantained by shifting alliances among states
023600 QS PO a0 )80 T 5T B 50, 25 Ae8e) rdrangeded
VRO TNINTNVE

d. States are motivated by a drive for power. security and pursuit of the national inferest
o2 sen @ds80, 2585, 0% (DOPETE AP §00 2.8 S8 500

(0RO ON
Codes: §Gex:

Options:

a. b and ¢ only

a.b. ¢ S35

1. %

a. b and d only

a, b, d SF|S



a. ¢ and d only
a, ¢, d )| ehad

a.b.candd
a, b cd

Question Number : 95 Question Id : 26544815621 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The following approach tries to bridge the gap between structure and agency centred theories
and argue that structure and agency are mutually dependent:

808 8981800 T80, S50 OIS T D6 WOSTR) SHoENE
0%e3) 0B, VT30, 5886550 DOMIG0 BTFONE GOENONR TN

Options :

Social Constructivism

., 238 AT ET e 865700
’l. w

Neo-realism
AOIT- PO

Feminism
&
Ry wle

Post-modemmnism

. €30S0 8O0

Question Number : 96 Question Id : 26544815622 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Consider the following in relation to the committees of the General Council of the World Trade

Organisation:

99009 aehesg 00 Ferdes e Etderds Hoa0800 18od e SofBood:

a. Committee on Trade and Environment
6550, 07538803 &8

b. Committee on Trade and Development
76550, @85y Ee3

¢. Committee on Subsidies m Trade
Tess08 9860 §0eS

d. Committee on Balance of Payments Restrictions
B30 3203 §¢3

Codes; §%ew:

Options :

a and b only

| ab A7 5%

a. b and ¢ only

a.b.c 3|53
2. % i

a. b and d only

a.b.d Ar|ehd
3.¢ :

b. ¢ and d only
4w b. c. d S5 ehad

Question Number : 97 Question Id : 26544815623 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s NOT a non-state actor in international relations?

808 T3S @0e85T°e30% D020 TEsehS Ho® 5°¢?
Options :

Multinational Corporations
2T0Feed dowewn



Intelligence Agencies

- rEErRdd g DoREN

International non-governmental organisations

- £90e5TeIOD |DEDSD 58S HodHen

Religious organisations

S30eHDBS HoRen
4. %

Question Number : 98 Question Id : 26544815624 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Read the following statements and chose the correct code:
800 DO A0E, N3 §GR JothENOd:
a. ‘Human nature’ 1s not fixed or essential. but shaped by the social conditions that exist at any
period of time.
AT 9.52750" ©9T6 DEDIO B @ATE RN S, ©ONS S0SF O
GOR ard ORI &7 0 EFPoB0G0A.
b. Despite differences between race. ethnicity. gender, class, all human beings share an interest
inl achieving emancipation.
3R, B8, 2085, 580 g S5Eraren G038 SPSeIO0dER Desdd
FO0%0S 858 Hotndoerd
The above statements are the assumptions of the following;
D TN O GPe:

Options :
Critical Theory

18¢38S HODHO
1.4

Social Constructivism

- 238 Vo= eTmed 8 eh
Structural functionalism
- 19800 HoS S0

Neo-liberalism

AT G750
4, %



Question Number : 99 Question Id : 26544815625 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following are nuclear non-proliferation regimes?
808 ¢3S’ 92 5| 375D DT HoDe N7

a. NPT

b. FMCT

¢c. OECD

d. MTCR

Codes: §&ew:

Options :

a. b and c only
a.b.c 3775

a. b and d only
o ab.d TSR

a. ¢ and d only
a.c. d (€5

aand donly

a, d oS53

Question Number : 100 Question Id : 26544815626 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Consider the following in relation to the mvestigation of crimes by the International Criminal
Court (ICC) and chose the correct code:
@0STA0% [$05S §F (100 o 5o Fore Derdeady 020808 808 T3
NBMES0s06, B §B JotEod:
a. The crimes were commtted by a State Party national. or in the territory of a State Party, or
in a State that has accepted the jurisdiction of the Court
Soren T3¢ H02006 2Pe0inth B Tt 02006 Srartiod B &9
985 N6 80fE800S T8 260
b. The crimes were referred to the ICC Prosecutor by the United Nations Security Council
(UNSC)
ST 085072350908 25,598 )0 (UNSC) ICC 87555 drdotse
¢. In the absence of a UNSC referral of an act of aggression, the Prosecutor may initiate an
investigation on her own mitiative or upon request from a State Party
e985080 3853 UNSC G40 B, [2rR8re65 ébed Q5068 5853 B 0230
85 06 ©925:8:53) N BEcd) 800t
Codes: §Gex:

Options :

a and b only

a.bandc

a.b.c S7|HDd

a and ¢ only

3% B NGTERY

b and c only

b. ¢ 37| 5ad

4, %

Question Number : 101 Question Id : 26544815627 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The scenario of change of the parties, the issues and the expectations. resulting in no longer a
fear of war arising from the relationship is termed as:
0088 N5 Srdy), TR Gyis0, debdzen, BodTren Srd) HOsoT 38

]

0069 02057 06 NG a5ren SBS HBREN & 808 H0 BOHZN0A:

Options :



Conflict settlement

. 5P S e3eS08)
1.
Conflict termination
S“r::}jmg f&@égglf}
2. ®

Conflict resolution

- sR))._5 B8 Ad

Conflict transformation

5505 187900208
4, v )

Question Number : 102 Question Id : 26544815628 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following Secretary Generals (List-I) with their respective countries (List-II):

808 S 2SO0 (@de-) a8 H00HS DTS (@rder-ll) 2déN8d0b:

List-I (29)e) List-II (z&)e-1l)
(Secretary General) (Country)
R1808 2:86) (@40)
a. Trygve Lie 1. Austria
(B7is 8 &5 Yol
b. Kurt Waldheim it Portugal
40 TQorad To19)
¢. Boutros Boutros Ghali iii. Norway
TR TR O 08
d. Antonio Guterres iv. Egypt
23063 A KEBR &e29)
v. Peru
26>
Codes: §&Gew:
Options :

a-i1,  b-1v. c-11, d-1
1. %

a-11. b-111. c-1v. d-v
2. &



a-1v. b-11. ¢-v. d-1u
3. %

a-i11. b-1. c-1v. d-u1

Question Number : 103 Question Id : 26544815629 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following does not fall under religious terrorist organisation?
808 ¢35’ s0eh G5 0D 8§05%) TR NE?

Options :

The Al Qaeda
@O P

Irish Republican Army
082 8HDES es8;

Abu Nidal
2920 TS

Lashkar-e-Toiba
©3,0 Sowes

Question Number : 104 Question Id : 26544815630 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Arrange the following in the chronological order:

808 T°¢3) sTEradntiEanardo @08 )0d%:

a. The Millennium Assembly of the UN. New York
%0235 08 DODON0 90, rs355),

b. Montreal Protocol on Substances that Deplete the Ozone Layer
5,85°S P8 830528 DT D Sro|¢3anS | S

¢. World Food Summit
(DDOTS €855°E RHTS DeSTSH0

d. Convention on Biological Diversity
2255 BRDO R DATrJF0

Codes: §&e:

Options :

b.d.c:a
1.¢

e boad

d-a b.c

a.d.c.b

Question Number : 105 Question Id : 26544815631 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The founder members of the Shanghai Cooperation Organisation include:
SO §BHTAR BODZAD 5508 degew:
a. The Republic of Azerbaijan
8IS a3 ©230Berd
b. The Republic of Kazakhstan
825 39 E28°®
¢. The Kyrgyz Republic
8825 838
d. The Republic of Tajikistan
88 e35) 5228TS
Codes: §Gew:

Options :
1. %



b and ¢ only
b. ¢ 3|5

a and d only

a, d S|S0

2. ®

b and ¢ only

b. ¢ 3075
3. % )

b. ¢ and d only

b, ¢, d S35
4.

Question Number : 106 Question Id : 26544815632 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Which of the following is a joint venture between India and Russia?
80& 536 23ESBF0, Sars 6058 2370N0E) J0HD DE?
Options:

Chutaka. Madhya Pradesh Atomic Power Project
TDEIS”, SDBINTT 0EFaDS N3O [ EH

1. %
BrahMos Aerospace Private Limited
, o DR DO IN | 238 O

Jaitapur Nuclear Power Plant

5 x B0 cs8A00 65D P 0Ed

Lockheed Martin Aerostructures Limited

€53 B S8 O DE5) OW®&H

Question Number : 107 Question Id : 26544815633 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



India-EU Strategic Partnership Agreement (SPA) of 2004 includes the multilateral cooperation
in the following areas:
2004 763 2T SSTHO-EU syt artiredds 2,100 (SPA) 80d Sorrerd axrvar §
s SOR ol
a. Conflict prevention
008 AT Sen
b. Anti-terrorism
A S5arh 5508
¢. Non-proliferation
TR FONOAD
d. Promotion of democracy
(T ), |88 Narotico
Codes: §Gew:

Options :
a.b.candd
ab,ec.d

1.

a. b and ¢ only

a. b, c AT
2. % .

a and b only
3 % ab MR

a. b and d only
4w ab.d SIS

Question Number : 108 Question Id : 26544815634 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



The following key confidence-building measures are result of Joint Working Group between
India and China:
&1 8002 2r8STH0, B ¢ 20008 58,00 [KFD & 507 KBS §f DTy
00RO HEsen:
a. Foreign Secretary level meetings thrice a year
BTl 585658 oD NTFRTED 03¢ 108 srerRr )
b. Establishment of hotlines between mulitary headquarters
DG 0 ST s aPE BRI aTT)en
c. Frequent meetings between local commanders by both the sides
T8 E50ch0 s G Bod Fayer dedraaen
d. Prior notification of troop movements along the border

N8BT Foaxd deme> E9€)80) HB0D) SM0BD FEIDING

Codes: §Gew:
Options:
a. b and c only
a. b. ¢ 8353
1. )
a.bandd
a. b, d S5
2. ® E
a.c and d only
I d eS| e5ad
b. c and d only
b. c. d SF|SHaDd
4. i

Question Number : 109 Question Id : 26544815635 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following agreement was signed between India and the US in 20057
200565 2rSHTF0, BT s0ds &8 (808 T3S & 2:9080 H&E0E?
Options :

New Framework for India-US Defence Relations

27 SHTF0-ANDR BF £ HODOTT §'00 5 | 2e0055),
1.4



Indo-US Civil Nuclear Cooperating
ROE-ANIR TS e HSF5 B0

Indo-US Counter Terrorism Initiative

R0E-A500D T0edd BB8230 BINAE3S

3. %

Joint Strategic Vision for Asia-Pacific

eSDAST-HDT §'H0 27on08] | E23S DS
4. %

Question Number : 110 Question Id : 26544815636 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following are the sectors of partnership between India and ASEAN?
808 763 2rEeSTIH0, ASEAN s33055 2R ta0g S0oTFen o)a)?
a. Investment and Trade
EPG, Fedess0
b. Nuclear cooperation
296 RSO0
¢. Tourism
T80
d. Science and Technology
1) 0ok BsT) 0B
Codes: 8Gex:

Options :

a.b and d only
a. b, d o375

1. %

a.b.cand d
a.b.c.d

2. %

a. ¢ and d only

3 v a.c. d 375D

a and ¢ only

a. ¢ S5



Question Number : 111 Question Id : 26544815637 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Dr. Rajendra Prasad was NOT a member of one of the following committees formed by the
constituent assembly:

o300 925 om0 Taes 808 Ee 2.5 @b TRold DD HeHh
5"&\3.

Options:

Comumittee on the Functions of the Constituent Assembly
1 ¢ 02500 O G0 £0¢3

Commuittee on the Rules of Procedure
a)@&’} QDT 2 Sal 3¢3

Finance and Staff Commuittee

DR 00& T £30e3

Steering Committee

VBOR Enes

Question Number : 112 Question Id : 26544815638 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Consider the following statements and chose the correct code:

8060 5500 HOAS0S0E, B &b dothEod:

a. In 1952. Shankari Prasad Singh Deo v. Union of India the Supreme Court upheld the power
of the Parliament to amend any part of the Constitution including Fundamental Rights.
195265, 088 (ATE DO B 5B ARFACHS &5 20AAT &F S0 [P0
FENOS 05 oo A DB 27T AIB0ERE R0ty ASTR)
2208 5080008,

b. In the Golaknath v. State of Punjab case. 1967. the Supreme Court observed that the
Fundamental Rights cannot by very nature be subject to the process of amendment
provided under Article 368.

FoSd S8R DO &5 H0zreS T, 19676, es08S 368 80 @900 M6
808 50 [2rehad STE03E0 5T WadBOtIN 208D D08,
¢. Inthe Keshavanand Bharati (1973) case the Supreme Court upheld that it is competent for
the Parliament to amend Fundamental Rights under Article 368.
HHa508 2788 (1973) SN (208D e3086 368 (95°60 (@GS FEp 0%
$380BERE SrOR0end 08580 oA dlodod.

Codes: §&e:
Options :
a and b only
1 a. b (e
a and c only
, % AcC O €533
b and ¢ only
5 % bec NS
a.bandc
a.b.c
4,

Question Number : 113 Question Id : 26544815639 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Consider the following in relation to the Government of India Act. 1935 and chose the correct

code:

2786 (025068 § 290, 19358 020G0) 80 are3R) HOMEI0d0d, B §Gd

2othEod:

a. The Governor-General remained the head of the central administration and enjoyed wide
powers concerning administration. legislation and finance.
(538, 5-23056 Z0[2) DBFONE ©ANST Gy &, HBaFOR, TS0, 60
DATOH H020H0D AV ST $OR Gy &,

b. Diarchy. which had been established at the centre by the Act of 1919, was to be
established at the provinces,

1919 1940 50 S0|306S AT) RS 508 BTN [FFRIOS DTN

NN 0A)
Codes: §¥Gew:
Options :
a only
a 37 5o
b only
, % b NG
Bothaand b
a. b B0 5%
3. %
Neither anor b
a. b BO> 5%
4, %

Question Number : 114 Question Id : 26544815640 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



The Comptroller Auditor General of India conducts which of the following kinds of audit?
$08P00 885 258 35 20305 808 o) S5 SR AT S
a. Fiancial Audit
DTVOHO 8GE
b. Electronic Data Processing (EDP) Audit
DO TG BT (ZFRO0N (EDP) e8¢
¢. Compliance Audit
00X SAE
d. Performance Audit
208200 SGO
Codes: §Ge:

Options :

a.b.candd

a,b,ec.d
1.9

a. b and c only

a. b, c ST
2. ® i

a. ¢ and d only

5 % a-c.d TS5

a and d only

g ox &d SNERY

Question Number : 115 Question Id : 26544815641 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following amendment substituted the words “Unity and Integrity of the Nation”
to the words “Unity of Nation” in the preamble of the constitution?

808 TES &) 568 T2r50l HBZS R "rRe 85 RS ©F Hrrerdy e ne,
S8 e e 250 TRo6?

Options:
The Constitution (32nd Amendment) Act. 1974

7237000 (3265 DdGE) W&o, 1974
1. %



The Constitution (42nd Amendment) Act. 1976

- 072375000 (4265 a58e) &0, 1976

The Constitution (101st Amendment) Act. 2017
02375000 (1015 Da38) TI&0, 2017

The Constitution (103rd Amendment) Act. 2019
02375000 (10365 o) ©SEO, 2019
4, ®

Question Number : 116 Question Id : 26544815642 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is/are correct regarding writs issued by the Supreme Court
and High Courts in India?
2r8STH0S R HOSD, 3rEDen 278 T 6308 020600 808 e
20 B
a. The writ of Habeas Corpus can be issued against private authorities only
238 08580 Srdad TrDoNH 5810 88 20 Tobhaeod
b. The writ of Mandamus cannot be issued against a private individual or body
28 228 358 B 083 Arocdd 66) 278 Tahadd
¢. The writ of prohibition can be issued only agamst judicial and quasi-judicial authorities
DA 86 ohds, a8 §-mriah eds e drdd 0
R OWARNSVOA
d. The writ of Certiorari is available against legislative bodies and private individuals

T Hodey, | AR Se8ed sassor QTrod 68 eodertnd &od
Options :

a and b only

| % a. b 5|53

a and d only

a. d o350

b and c only

3¢ B.© NG



¢ and d. only

c. d Sr|edad

Question Number : 117 Question Id : 26544815643 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The Supreme Court of India while mterpreting the scope of Article 14 in the Charanjit Lal
Choudhury v. The Union of India (1950) upheld the following:
BOEABE o7 FH6 STIR B CArAHS €5 BT (1950)¢5 esES 14 HOE
DodBOTIEIY )R arBESTT e9ehged) e wr a0 (808 TR Mool
a. Equal protection means equal protection under equal circumstances
a7 38 80 90T 05 HBRKS daire BE 0
b. The State can made reasonable classification for purposes of legislation
B0 (HEFETE §H0 TR0 Farehnd e SO88e Tahah)
¢. Presumption of reasonableness 1s in favour of legislation
(Farehgeded) rarodtio IS e9cdre0m Gotnod
d. The burden of proof 1s on those who challenge the legislation
DEFR), TN T a8 Sere) 2rdo
Codes: §Gew:

Options :

a.b.candd

a; b,c,d
1.¢

b. ¢ and d only

b. c. d &3 ¢5a
2. % -

b and ¢ only
3 % b. ¢ 3550

a and d only
,w ad NGTEIRG

Question Number : 118 Question Id : 26544815644 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



With regard to the State wise Membership of the Constituent Assembly of India as on 31st
December. 1947. which of the following had the highest number?

&R025 31, 1947 €38 2ded Tessolf DS 077 a0 d885e 508 Mo2060D),
808 T3S DO 965508 025 08 GoB0d?

Options :

Bihar
% D5

West Bengal
> % 030N BorTO

United Provinces

OVWINTATRIEV A IR
3.¥ )

Madras
o0 T30

Question Number : 119 Question Id : 26544815645 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Consider the following in relation to the Governors and chose the correct code:
(16568505 0020800 808 73R HBHEB0I0E, 3B §G dothSod:

a. The constitution does not provide for the transfer of governors.
55818 OO T2re00 Desdeac §0 1058,

b. There are instances of transfer of governors from one state to other states
2.8 T30 D06 28 TEFOR K656 568 2B T HoST)en Gy on

¢. Whenever the governors are transferred they have start fresh tenure of another five years.
1552500 266 e0nGE” 08 &8 DY HXATH0 ESRrHE0E,

d. Examples of transfer of governors include Dr. M. Chenna Reddy from Rajasthan to Tamil
Nadu and Ramesh Bhandari from Goa to Uttar Pradesh

15618 OO8 BIEPdEae TETS D06 SMETHd & 20 Ty 38, oy
08 GO NDIE Sha Sowd.
Codes: SEe:

Options :

a.b.cand d
1. ¢ a,b.ec.d



a. b and c only

, % &Db.c A5
b.cand d only
b. c. d S35 ¢ha
3. % ]

b and ¢ only
4 % b.c NS

Question Number : 120 Question Id : 26544815646 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Arrange the following committees on reforming Panchayati Raj Institutions in the
chronological order:
H0Tone T H0PO% 08 80t5¢07 808 Eierd SeESTaRrdomT Jom)t
Bohod:
a. LM. Singhvi Committee
LM. 05 82083
b. K. Santhanam Commuttee
K. om0 §0é3
¢. G.V. K. Rao Commuttee
GV.K o9 &e3
d. Ashok Mehta Commttee
'S Rrer St
Codes: §Gew;

Options :

bl a
1. ®

e, b.oad

c.b.d. a

b.d.c.a
4, ¢

Question Number : 121 Question Id : 26544815647 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

The key recommendations of the Sarkaria Commission include:

NT7).0057 B a0 RaFI)eN:

a. The abolition of article 356 relating to the imposition of the President’s rule in States,

TaroS T8 o O0ERE 020800 esd8S 356 5.

b. Residuary powers relating to other than taxation matters should be place on the Concurrent
List.
HR0)© 9595307 5H0TE A 763§ 000NN B33 BETTEN Gayh
DS towd).

¢. The establishment of a permanent Inter-State Council under article 263.
&304 263 135780 T4 36 B0EG-HET TS TN,

Codes: §Gew:

Options :

a.bandc

| % a.b. ¢

a and b only

a. b 3|5

2. ®
aand c only
s w X NS T
b and c only
4 v D.cSTSD

Question Number : 122 Question Id : 26544815648 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Consider the following in relation to the Preamble of the Indian Constitution and chose the

correct code:

or8es Trersolf e85 2020502) (808 a3 Hoedoiod, HD S

otnEod:

a. The Preamble indicates the source of the Constitution of India that 1s from where it derives
its authority and states the objectives. which the Constitution seeks to establish and promote.
23865 T250060 Sumer)), [Wad8 Ar0d), T7e30f0 B 0@ @RS
OA0S, ) OTLON TA0NERE, (86 JorodTRE (H0HS) W08 D08,

b. The Preamble does not contain laws enforceable in a Court. but no law can also be enacted
or amended in a manner that violates the spirit of the Preamble.

80 5020800 70T 0SS @airen TEDHAM ETe B, LoNS (D78
)8R GO0 IO o) TR S Erarodoisl B d8olB.

Codes: §%Gew:
Options:

a only

a (S5 T
1.

b only

b 353D
2. % i

Bothaandb
3 ¢ 2b30&y

Neither anor b

a. b 30> 5%
4. %

Question Number : 123 Question Id : 26544815649 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Consider the followmg in relation to the Electronic Voting Machines (EVMs) m India:
2SS0 AO[FNE 2,300 0hoEed (EVMeD) 2020800 806 4¢3
HBfedoiod:
a. EVM was first conceived in 1977
EVM S0dERe8rr 19776 8rgroBotsadod
b.Its prototype developed by the Centre for Matertals for Electronics Technology (C-MET)
B S5 0EE H8 e3BHS ) 8 IO TR Bs) 0 (C-MET) 98adyd
D0k
¢. In 1982 EVMs were used on a pilot basis to conduct elections
198265 AR €0 DB 557850 B0 |HTFTeS 0T GBPAOTE
d. In 2004 the Lok Sabha elections, the EVMs were used in all 543 Parliamentary
Constituencies
2004 5385 D) ES’ Bcho 543 TSRS AT TS Sxdaoen
AN OIATALE KOV
Codes: §Gen:

Options :
a.band c only

a. b, ¢ 37D

1. %

a. b and d only

a.b. d Srehad

¢ and d only

- c. d (5

b. ¢ and d only

L b. c. d ST ehad

Question Number : 124 Question Id : 26544815650 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Arrange the following commuttees on electoral reforms in India m the chronological order:
2rESTH0S A EO 5085890 808 Eederss e ESTauRrEomT o)t
BOH0&:
a. Dinesh Goswami Committee

BT firsad $068
b. Vohra Committee

T $0es

¢. Tarkunde Committee
.08 &0es

d. Indrajit Gupta Committee
20,5236 K 0¢8

Codes: €&ew:
Options :
b.c.a.d

c.ab.d
'

d. b,ca

a.d.c.b

Question Number : 125 Question Id : 26544815651 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following does NOT come under the purview of investigation by the National
Human Rights Commission?

808 TES DB 2D ST aTE0 S AT HEOSE Ty

Options :

Custodial deaths

- £HS SodeTren

Human rights violations by the armed forces

PO AOF°E) 833706 s3°802.0) TFI0I
2. v



Reform of the police. prisons. juvenile homes and mental hospitals
SO, B, 23edg §ys5fen, SraddE Bdsaoe Hody S

Death by starvation
e33D& Sodea0

Question Number : 126 Question Id : 26544815652 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

According to Gerald Caiden, which of the following are the roles of public administration in
the contemporary society?
09 SBS (9550, 808 B 505508 657206 HBTOS TR0 2F(e5e 8
a. Preservation of the polity
or2280h D688 8
b. Influencing public policies and political trends
D2 ey, TE80H e (Haraso Babdo
¢. Institutionalisation of socioeconomic change
et Bt Sr8y) ST
d. Management of large-scale commercial services
278 Tedess IO N foreD
Codes: §Gew:

Options:

a.b.candd

1 ¢ a.b.c.d

a. b and ¢ only

L, % @D.c NS TN

b and ¢ only

b. ¢ S35
3. %

a and b only

4w & b oS5

Question Number : 127 Question Id : 26544815653 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

The task of the leadership 1s:

00565 50 b:

a. To direct the organisation
HORK AFFotd%o

b. To boost the self esteem
365 371" 057) DOTHE S0

¢. To coordinate the organisation
HDORR D66 500 BAWGHO

d. To control the organisation
DO AOLOSIOTIGBO

Codes: §'&e:

Options :

a and d only

a. d 3¢5

a.b.candd
) % A b.c.d
a. b and c only
L& b. ¢ 3053
3. )
a. ¢ and d only
4o Acd ST

Question Number : 128 Question Id : 26544815654 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following theory views that each worker carries her/lus culture, attitude, belief
and way of life in the organisation and hence the organisation must take proper cognisance of
such socio-cultural aspects while hiring an employee?

198 56;80¢ 0D /@5 H0853,98, B9850, T30, B AT 408
&0Er3R), 0B N0 &EEAR AaDMoHZDEYIC eES0E ~raires-
RFON; ) @070 B0 3B ©STTS $O8 oo §08 AFToEoS JO

©98) 2 ODNGOEY?

Options :



Scientific management theory
5 .
F ROD A §o37 V0SS0

Bureaucratic Theory

&E N se0E D00

Human Relations Theory

SIT°I0) ODOTT® 050
3. ¢

Rational Choice theory

. BB DODE D050

Question Number : 129 Question Id : 26544815655 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

According to F.W. Riggs. a prismatic society is:

FW. 8 (29580, (Darae3s el

a. Characterised by a high degree of homogeneity
08 o HErachSS SBoaB0S

b. Characterised by a high degree of heterogeneity
9088 0w FAVSE SGodaGod

¢. The old structures continue to dominate the social system despite the creation of modern

soctal structures
2380008 88 Q0N AYROTIRRN IS e ATETEN AP 39
3020 SRR 0

d. Characterised by high degree of formalism
08 Fron 850 [FIFdiTd0 &5 SGotiG0d
Codes: §Ge:

Options :

a. ¢ and d only

a. c. d 3530

1. %

b. c and d only

b, c. d o377 |¢haD
2. -



a and ¢ only

a. ¢ o350

b and d only

b, d ST

Question Number : 130 Question Id : 26544815656 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Who among the following advanced the concept of “constructive conflict” in the admimistrative
thought?

o ¢ v of o/ N g = { ]
808 TOS D% HBreRr 8IS Vo 00’ ©F 2 o)
B

Options :

Max Muller
- 00°5 ) 20D

Chester Bernard

20 23070
2. %

Max Weber
20"5 ) DD

3. %

Mary Parker Follett

08 ;&0 SFBE
4. &

Question Number : 131 Question Id : 26544815657 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Assertion (A): There was an imbalance between administrative and political development in
the fransitional societies during the colomal era.

Q)BT D0 (A): DT 5006 58588 dsrered d8arorr, Tsioh
ANNABWAE WLV oA

Reason (R): The task of building cohesive political process was not the concern of colonial
rulers.

arehnad) (R): 903968 T80 (BN ABIOT ) 936 aTeEre 33 S,
Codes: §Gex:

Options:

(A) and (R) are true. (R) is the correct explanation of (A)

, AR B0 DADET OB, (R), (A)BO OB Dedden
1.

(A) and (R) are true. but (R) is not the correct explanation of (A)
(A), (R) BOK DBDGT HB a3, 5 (R) (A) B0 OB Deddea 5°¢%0

(A) 1s true but (R) is false
(A) 2:5) 5 (R) $5))

3. %
(A) 1s false but (R) 1s true
(A) 53 5 (R) 2:9)

4. %

Question Number : 132 Question Id : 26544815658 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which part of the Constitution envisages a three-tier system of Panchayats?
07230005 &) 2P0 HOTTONRE) SIFHOTE 355005 FPAN0E?

Options :

The Part VIII of the Constitution
Toers0%0eS R VI 230

The Part IX of the Constitution

- 72375065063 IX 25750



The Part X of the Constitution
o200 R X 230

The Part XI of the Constitution

L 77235040 X 25°%0

Question Number : 133 Question Id : 26544815659 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Consider the following in relation to the Public Accounts Committee (PAC) and chose the
correct code:

2985 9F063) $0¢3 (PAC)E $90200800) 1808 are3R) HOKEI00G, 13 S

DothEod:

a. It was first set up in 1921 in the wake of the Montague-Chelmsford Reforms
26 FEFAE 19216 SFoDF-TED o Seae) Badod dom)en
Dodadod.

b. It is now constituted every year under Rule 308 of the Rules of Procedure and Conduct of
Business in Lok Sabha.
20 259 TS DOITTEN, 235557 658 Aokesre 308 808 (&
H0a3e 180 )T™)E0 ToHeReR0E.

¢. It is now consisting of 15 members comprising of 10 from Lok Sabha and 5 members from
Rajya Sabha
2920 AAS’ S5 D08 10 008, T2583285 08 5 08 e Er@ded 15
o006 e $OR Gotnod.

d. It functions nclude examination of accounts showing the appropriation of sums granted by
Parliament for the expenditure of the Government of India
a8 (0250eb § %) §0 FPOR0LY a0 T INT) ETOWOYAD
Ara0B e N800 20 AE T

Codes: §%ew:

Options:

a. b and c only

, a-b.c AT Ha

a.b.candd

a.bocd
2. ®

3.¢



a. b and d only

a.b. d 550

a. ¢ and d only

a.c, d A5
4, %

Question Number : 134 Question Id : 26544815660 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Pradhan Mantri Awas Yojana — Urban (PMAY-U) implemented by Ministry of Housing and
Urban Affairs (MoHUA) addresses urban housing shortage among:
RTFQ o00(E} BT O3re3) - oF 00f ©90& @8)® @920, 0 s T8 (MOHUA)
295300 T 8 (PMAY-U) 8 60 fyarer S By B 008:
a. The Economically Weaker Sections (EWS)
3040 23eare ST (EWS)
b. The Lower-Income Groups (LIG)
BH-e80% dersFen (LIG)
¢. The Middle-Income Groups (MIG)
DA-STA eTren (MIG)
d. The Slum Dwellers
S0B8Te) darRehen
Codes: §Gew:

Options :
a.b.candd

1 ¢ a.b.c.d

a and b only

a, b 3

a. b and ¢ only

a.b. ¢ AT SBT

a. b and d only
a.b. d S35 eha



Question Number : 135 Question Id : 26544815661 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): The NITI Aayog encourages healthy competition among states through
fransparent rankings. in various sectors.

D) a7E0 (A): NITI sl D SorrexsS, 38850 T75080M) & 507 o are
5089 858000 FE3R 965 15T D0,

Reason (R): The NITI Aayog ranking of States in various economic sectors based on
qualitative objective criteria encourages them for competitiveness.

a7y (R): Mheredp ©F 5 (Herere esdor AN a8 Sored oaredy NITI
sl ors080f Sl ), 1508,

Codes: §%ex:

Options :

(A) and (R) are true. (R) 1s the correct explanation of (A)
(A), (R) BO DAIET BN, (R), (A)BD DB 2)eddied

1. %

(A) and (R) are true. but (R) 1s not the correct explanation of (A)
(A), (R) BOCK DBDAT OB, 5 (R) (A) 0 OB Dad&ed 5°¢%0

(A) 1s true but (R) 1s false
(A) 2,53) 52 (R) €5

3.v
(A) 1s false but (R) 1s true
L x B SISV R) 29

Question Number : 136 Question Id : 26544815662 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The following is commonly understood as ‘the realm of organised social Life that 1s voluntary.
self-generating, largely self-supporting and bound by a legal order or set of share values™:
808 R LT '8 15108, D 0D-23058, BT R 50D-s e,
SN (5500 B etz so5g Densderto Epad GoR by e A6
Gofo’ @ @00 BED

Options :
1. %



Political Socialisation

o72380% arosndéden

Civil Society

- 2°0 D20

Political Participation

. 0723805 23R o080

Good Governance

L x DOTOS

Question Number : 137 Question Id : 26544815663 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The Right to Information Act. 2003. provides exemption of disclosure of nformation
pertaining to:
NTEd $780) 960, 2005, D638 50208008 ASTFTR), 2erdeo BOHFRE
A FON0)) @OBNOE:
a. The information that would prejudicially affect the sovereignty and integrity of India
2T ST W 52T TS0, Med|1e5ed) HE RPSOMT (NeFR0 T daTEdo
b. The information which would impede the process of investigation or apprehension or
prosecution of offenders
e derder B G000 B (¥ (HBohd estodo $OR0T
T30,
¢. The information which has been expressly forbidden to be published by the Prime Minister’s
Office
[DGTS00(8 ST§0000 & 50° EHB0LE), O )R0T A0 daFado
d. The information received in confidence from foreign Government
TP (e 50 0 TSR0 FOAN dSrErdo
Codes: §Gex:

Options :

a.b.candd

a:b.c, d
1. %

a and b only

a. b S5
2. ®



a. b and d only

a.b. d S7{ehad
3.¥

a.c and d only

a. c. d 7D
4, % :

Question Number : 138 Question Id : 26544815664 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Read the following statements and chose the correct code:

808 7525000 293308, D e dotHEod:

a. e-Government 1s the application of Information and Communication Technology by
government agencies to improve the efficiency, effectiveness, transparency and
accountability of government.

3-898) 0] A 29805 50 MY, |ara3o, FEAE;Ee, BTranrrdST)
DEDNEIEVE 925065 § DBV IOT 20008, ErzRBAS B5 )
Gaolrfotdo,

b. e-Governance 1s the use of Information and Communication Technology to support the
guiding and steering of an organisation — be 1t a private agency to achieve its goals.
H38)8) @8 2.8 08 JrdNGI0, G508 S 3 T8 2801,
E3rERBAS W5 0AR) EGIRrATI0 - 30 2.8 | DR JEV) TR OF LM
TBOLENETRS S TE 5.

Codes: §%Gex:

Options :

a only

| % a o35

b only

, % b TS

Bothaandb

W
3 v a. b Sodar

Neither anor b

a. b B0y 5%



Question Number : 139 Question Id : 26544815665 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following terms (List-I) with their respective focus areas (List-II);

806 N (de-l) a3 02086 Gy 0T WoTed (e

2SO0
List-I (278e-) List-IT (2z8)e-1l)
(Term) (30) (Foeus) (92 WrB0OT ©9070)
a. Performance accountability 1. Actions in the public domain to the established
legislative and judicial process
HE BFTHBS0 e B0 TR0tiRA e tibsen
T, gl (2 Saben
b. Fiscal accountability i1. Balancing the code of profession with the larger
purpose of protecting the public interest
308 200 98 AODSTHIN A (e (NABFETOD
NB88 0T G068 Hdeheezo Do
¢. Legal accountability 1. Involves scrutiny of records of financial
transactions
BENER Barancrdedo 2308 B en, erarBaen H8908% $OR
50080
d. Professional accountability iv. Legitimacy of public programmes and the

survival of the involved organisations
$9BNEDR 2FTOS0 [N N DY, FOS) HoRe) suich
v, Effectiveness and achievement of goals
O550 ), (2270

Codes:
Options :

a-iii.  b-iv. c-ii.  d-i
1. %

a-11. b-111.  c-1v. d-v
2. ®

a-1v. b-11.  c¢c-v. d-
3. %

a-v. b-iii. c¢-1. d-ii
4.+

Question Number : 140 Question Id : 26544815666 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

An official who mvestigates, reports on. and helps settle complaints 1s termed as:

/ =5 W W & ¥ —5
2.8 TR0 HBTOOD, VSO0V, HBLE0DG0S HsFOHNG OB Qe
N S;

Options:

Judge
0000078

1. %

Ombudsman

29022068 )00
2. ¥

Police

O™

Intelligence Officer
ROBVOBS) S0OG

Question Number : 141 Question Id : 26544815667 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Consider the following in relation to caste and politics in India and chose the correct code:
2r8ST30S R L1000, T80 9020800 808 ae3R H8K0ti0d, B S
JothEod:

a. Rajani Kothari rejects dichotomy between traditional society and modern polity.

8230 §T8 RrOETO% N30, 8008 U805 s B30 5, v
a0 8om .

b. The process of politics is one of identifying and manipulating structures in the society.
oSaire (3 8ch &7 S0 ATaere HHB0i%0, 78 i)
Bakso.

¢. Caste structure provides one of the most important organisation clusters and politics strive to
organise such structures.
43¢ 073690 €9¢550¢5 RN 0N TS 2,883, Trafairen etnsioes

NTETON GRrA0LNEHEVE (H0DE) V0

d. In post-independence era, the caste differences have got a new meaning when various caste
groups have assumed organisational forms,

R 10(@ 088 5006, NG Le H05ren SR Erarend 215800
00 Ted) §¢ edo 008

Codes: §Ge;
Options :
a. b and c only
| % abec AT €560
a. ¢ and d only
a. ¢, d A
2. % N
b. ¢ and d only
b. ¢. d S7ATD
3. % -
a.b.candd
i & b.c.d

Question Number : 142 Question Id : 26544815668 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



The following concept aims at enlarging people’s choice of healthy and long life. right to be
educated and freedom to enjoy a decent standard of living:

806 2750 020 D0ER DGO, 8815050, AT , HHEIR o740,
00 Ba3ed (DIPETR) BRrSOOT 5L SO ol

Options :

Political Development

023805 @S ®

Political Participation

0723805 2 sar ses0o

2. %

Human Development

30905 €983 @
3.¢

Growth Model
NRTARNIN

4, %

Question Number : 143 Question Id : 26544815669 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): The period of 1951 to 1957 referred in Indian politics as one-party dominance
system.

D8 ha7¥50 (A): 1951 008 1957 s 53y 2rdes TalosreS a)-ard esdiides
S50 806540,

Reason (R): The Congress controlled 70% of seats in Parliament and held power in most states
between 1951 and 1967.

27 (R): SOLTR rR0tneS’ 70% 8% AHoBOD0E, 1951 606 1967 S
e oared o580 &ob.

Codes: §%e:

Options:

(A) and (R) are true. (R) is the correct explanation of (A)
(A), (R) BO DA DB, (R), (A)B0 OB Qedded
1.¢



(A) and (R) are true. but (R) is not the correct explanation of (A)
(A), (R) B DAIET HBS, 5% (R) (A) 80 DB 2dBed 5°¢%0

(A) 1s true but (R) 1s false
(A) 2,9 S (R) €539
3. %

(A) 1s false but (R) 1s true
(A) ) 57 (R) 2559
4, ®

Question Number : 144 Question Id : 26544815670 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Consider the following in relation to the concept of ‘Social Action’ and chose the correct code:
RO ArE R 2raindi® 020600 808 a8 HOHI0I0R, N3 §G dothSod:
a. It covers movements of political reform. industrial democracy. social legislation. racial and
social justice, religious freedom and civil liberty.
20 723805 00, Seaen, O (Nerarsango, Rl B940, e, Aruiral
50500, 068 0523, D W) Etdsadrerdd $a95 TWod.
b. Its techniques include propaganda. research and lobbying.
A HPKOS 1395750, HBTH, erDonof e &) ow.
Codes: §Gew:

Options :

a only
a A5

1. %

b only
b o355

Bothaand b

a.b 3oy
3.v

Neither a nor b

L a. b B0&> 5%



Question Number : 145 Question Id : 26544815671 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The following were considered as the lacunas of pre 1991 old economuc policy:
19918 00 &), yeb 8308 Ao 808 3R Sarent O30T EY
a. The private sector investment was mnhibited by the controls and licensing policy.
NOHO|EEIED, BRNION A0 507 | 2ae) S0 PG ABBOIG0A.
b. Public sector mvestment. although huge. yielded poor rate of return.
ehes s Soif epachien arOm ta))E38, @0 8330 TR FT0N.
¢. Public sector enjoyed a monopoly in all areas which were reserved for it.
138568 5 S0 Seranotiade o) Sored HEdeso &oGod.
d. Foreign investment was discouraged due to the intricate licensing and other regulations.
S B0, aE A0S TEROMT IBT DEP2RED A RBTDEOw.
Codes: §%ex:

Options :

a.b.cand d
ab.c.d

L]

1.4

a and d only
a., d 3r(ehad

b and c only
b. c. 7 ehadd

a. ¢ and d only
a. c. d (5D

Question Number : 146 Question Id : 26544815672 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Who among the following was the founder of the Bharatiya Jana Sangh (BJS)?
8060 85 273305 233905 (BJS) 5T IB0CR) o) 0?

Options :

Dr. Hegdewar
50 200



Dr. Shyama Prasad Mookerjee

, w55 3550 16 dnedd
2.

Deen Dayal Upadhyaya

DS BT Garersod
3, %

Atal Bihari Vajpayee

4 % OOS DHO aes ow

Question Number : 147 Question Id : 26544815673 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Consider the following i relation to the “Towards Equality Report of 1974 and chose the
correct code:

1974 60050 815 108 808 3020600 808 TR H6Ke30t08, 5B Sy
2otnEod:
a. It considered that despite many progressive social legislations and constitutional guarantees,
women's status had indeed not improved much.
ORS |DABIO Araire2E BHEren, T30 aFaden ted) 638, ssreie e
28 DT DEANDNEBER 26 HOS0D0d.
b. It observed that society had not yet succeeded in framing the required norms and institutions
to enable women to fulfil their multiple roles.
L?ge_:o 9630 2570 7103 Y ;80MOTEr @GR A20HSEN, HoPED
SrsPoB0tod deira0 205 D000 AFA0SBAN 28 KHNodod.
¢. It pomnted out that the concern for women and their problems which received an impetus
during the freedom movement had suffered a decline in the post-independence period.
R 550|529 00006 IO SaTHE) 98, T8 e3R8 I o)
08¢ 7 i30@e088 008 Sfanmo HEAR Hrdodod.
Codes: §Ge:

Options :

a.bandc
1.« ab.c

a and b only

a, b S5



band ¢ Dlllj-:’
b. ¢ 2275

a and ¢ only

a. ¢ AT 53D
4. % -

Question Number : 148 Question Id : 26544815674 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following contributed for the Indian State to take up the policies free trade.
privatisation of public sector. attraction of foreign investments and tax reforms?

27568 U350 5T Tedess0, (9806 s S0 | HaeSsen, N3 DEDRGO esédes, ek
5088600 T O THTER §:0 808 TS’ O BrrddBod?

Options :
Mixed economy
| Fod e808 3gade
1. %
Heavy industry
- 258 HBFD
Globalisation
1DD0EBED
3.¢
Social development
radre3d @02)ady 0
4. %

Question Number : 149 Question Id : 26544815675 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Consider the following in relation to regional parties in India and chose the correct code:
rESTH0S @DO@Q&) 008 020807 808 TR HOKEB0H0E, B
20thEod:

a. Lopsided development in various States have been the reasons for growth of regional parties.
S TroS 8030 @ddyd Frosad de néibied seo.

b. Demand for political autonomy in a federation has led the formation of regional parties.
ABASS 02805 H50D0BNS ASrof [roach arde Jom)tnd T8N0,

¢. In their pursuit fo bargain with the Centre in a better way regional parties strive to get more
allocation resources for regional development.

301408 BTen rod (55006 [Frosa fen ook edsyB8 &8y b
2303008 Seronomocudy (Hahel)row.
Codes: §Gew:

Options:
a.bandc

| @ a.b.c

a and b only

5 % a, b A5
a and c only
L w A€ NG
b and c only
L b. ¢ 3|55

Question Number : 150 Question Id : 26544815676 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



According to Gail Omvedt the autonomous Dalit Movement during colonialism had to engage
with the following forces:
oS 4,038 (9580, SONTE D00’ & c0D0HRNE EORS BV G550
808 FS A 1508 0, )08:
a. Historically deep-rooted hegemony of Brahminical Hinduism
O 50m S arenBoFond (2reich SFodre e8ne:0
b. The hegemony of the nationalist movement under the leadership of the Congress
SOLTTR 088 065 27 Grthed) 3NS50
c. A difficult relationship with the communist movement.
E50mERND G508 e 0200,
Codes: §%ex:

Options :

a and b only

a. b 35D

a and ¢ only

a. ¢ AT°ehadd

a only
a S5
3. %

a.bandc

a.b.c
4.





